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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

—&— PHO

Warning: col

[’ FVOPH’ ]

s missing

10

15

20

25

30

35




Trend plot forP3-13 0
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P3-13

BYiE) | GEBERTIC (B)) | EBE (EAH/#K) = ERE

07:40 271 130.0 M| FuEA@07:40 KRENFEF (KRPBEREEE)
08:30 271 130.0 f|  FHA@08:30 KREFERF (KFEZE)
09:35 271 130.0 M| FiEAe09:35 KEIEF (KAHEEE)
10:40 271 130.0 1|  FHER@10:40 REFEF (REAEZRER)
11:35 271 130.0 m|  FHAe11:35 KREFEF (RAERESE)
12:30 271 130.0 f|  FiHERe12:30 REFEF (RFAERER)
13:20 271 130.0 M| Fi#fe13:20 REIEF (REAEHSE)
14:15 271 130.0 | M| THAe14:15 KREFEF CGRAMERESE)
15:20 271 130.0 M| FiHAe15:20 KkEIEF CGRAFEERE)
16:45 271 130.0 M| FiHAe16:45 KREIEF (REAERSE)
2it| 2710.0 (10%) 1300.0 3ZHIKEC: 2080.0, PH: 5.8

REREBIEC (2610.0) HiZEEC (2000.0) REK K, BHEE
HEEIKECE (2610.0 vs 4110.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

P3-13_0, Day=35 (2025-05-05)
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P3-13

BriE) | EBIATK (D) | EHE (EH/HK) | XK ERE

07:15 277 150.0 | =| 1Ri&e07:15 Bz (KRBEEE)
08:05 277 150.0 (2 =| 1Ri%e08:05 Bz (FkHBHERSE)
09:00 277 150.0 |Z=| 1Ri&@09:00 Bzl (KEB{EEE)
09:50 277 150.0 |Z=| 1Ri&@09:50 Bz (KAEEEE)
10:35 277 150.0 (2 =| 1BRi%@10:35 Bz (kAFERSE)
11:20 277 150.0 el Rige11:20 Bz (REAERSE)
12:05 277 150.0 |Z=| 1Ri&e12:05 Bzl (GRPB{EEE)
12:55 277 150.0 (Z=| 1Ri%@12:55 Bz (REERSE)
13:45 277 150.0 |Z=| 1Ri%e13:45 Bz (GGREMRESE)
14:50 277 150.0 (B =| 1Ri%e14:50 Bz (GRBERSE)
21t 2770.0 (10)%) 1500. 0 3233 %EC: 2080.0, PH: 6.0

TEREHER 2 STEEARTF (180.0 :

ZRIASERRIERE130.0 ml.
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HEEIHECE (2590. 0 vs 4920.0) 15




P3-13_0, Day=34 (2025-05-04)
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P3-13

BriE) | EBIETK FD) | EE (EH/HK) | XK ERE

07:50 250 130.0 5| {Ri%@07:50 Bz (REERESE)
08:35 250 130.0 RS {RRi&e08:35 B (REAERHE)
09:20 250 130.0 S| 1Ri%@09:20 B3h (REEEEE)
10:05 250 130.0 RS Ri%@10:05 Bz (REERSR)
10:50 250 130.0 B 1Rige10:50 Bzh (REEESR)
11:35 250 130.0 RS Rige11:35 Bz (REAERE)
12:20 250 130.0 RS Ri%e12:20 Bz (REAERESR)
13:05 250 130.0 el Rige13:05 Bal (REAEHSE)
13:50 250 130.0 BE| {Ri&e13:50 Bzl (REERS)
15:00 250 130.0 e Rige15:00 Bz (REAERSE)
16:20 250 130.0 el Rige16:20 Bal (REAEESE)
23t+]2750.0 (117%) 1430.0 32 F%KEC: 2080.0, PH: 5.8

FEREHEME STMEAEART (162.0 : 118.0), AIEEAT—@E X5
ERGEBRRTAC (250) S5THEA (277. 0) AN, W EEH T % REERSE XIER
ZRIAKPRERE118.0 ml.

large discrepency for begining water status (84:228.0), set to 84 ml.
RERSEREC (2595.0) 5igFEEC (2000.0) REK K, BHHRE

[E]/REC 5425.0 K&, EILFAKECAE & MIEER

BE[EIKRECE (2595. 0 vs 5425.0) 35



P3-13_0, Day=33 (2025-05-03)
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